BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ANNISTON SECTION 19
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MARCH 20, 2025
LIA ENGINEERING, INC.
E. MUPRHY

BIDDER NAME	BASE BID
1) BAY UTILITIES. LLC	\$901,549.00
2) GONZALEZ CONSTRUCTION ENTERPRISE, INC.	\$917,515.69
3) SUBTERRA SERVICES ENTERPRISES, LLC	\$979,000.00
4) BLAZEY CONSTRUCTION SERVICES LLC	\$998,369.45
5) CROSTEX CONSTRUCTION INC.	\$1,015,000.00

MARCH 20, 2025 0390-2491 (9.2)

CALENDAR DAYS 40/50



I, Christina Sison, PE, hereby certify these bid tabulations to be true and correct.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ANNISTON SECTION 19

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			_									
				1) BAY U	TILITIES. LLC	1 '	RUCTION ENTERPRISE, NC.	3) SUBTERRA SERVI	3) SUBTERRA SERVICES ENTERPRISES, LLC		4) BLAZEY CONSTRUCTION SERVICES LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
WATER 1.	ITEMS 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2413	\$36.00	\$86,868.00	\$37.27	\$89,932.51	\$39.00	\$94,107.00	\$37.00	\$89,281.00	
2.	8" PVC RESTRAINED JOINT WATER LINE, C-900, DR 14, CLASS 305, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	966	\$61.00	\$58,926.00	\$72.96	\$70,479.36	\$69.00	\$66,654.00	\$70.00	\$67,620.00	
3.	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	9	\$1,900.00	\$17,100.00	\$2,107.33	\$18,965.97	\$1,900.00	\$17,100.00	\$2,100.00	\$18,900.00	
4.	FLUSHING VALVE UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$5,000.00	\$30,000.00	\$5,989.00	\$35,934.00	\$5,500.00	\$33,000.00	\$6,000.00	\$36,000.00	
5.	WET CONNECTION OF PROPOSED WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$2,000.00	\$6,000.00	\$100.00	\$300.00	\$500.00	\$1,500.00	\$630.00	\$1,890.00	
6.	12" STEEL CASING FOR 8" PVC PIPE, EXCLUDES CARRIER PIPE, INCLUDES FITTINGS, SPACERS AND PLUGS, ALL DEPTHS, COMPLETE IN PLACE	LF	250	\$61.00	\$15,250.00	\$52.20	\$13,050.00	\$50.00	\$12,500.00	\$100.00	\$25,000.00	
7.	TRENCH SAFETY SYSTEM FOR WATER LINE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	3409	\$0.10	\$340.90	\$0.01	\$34.09	\$0.01	\$34.09	\$0.11	\$374.99	
SUBTOT	AL WATER ITEMS			-	\$214,484.90		\$228,695.93	-	\$224,895.09	_	\$239,065.99	
SANITAI	RY SEWER ITEMS											
1.	8° PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	703	\$48.00	\$33,744.00	\$43.42	\$30,524.26	\$47.00	\$33,041.00	\$44.00	\$30,932.00	
2.	8" PVC SEWER PIPE, ASTM D-2241, SDR 26, $8"$ - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1879	\$50.00	\$93,950.00	\$44.02	\$82,713.58	\$47.00	\$88,313.00	\$46.00	\$86,434.00	
3.	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	18	\$2,900.00	\$52,200.00	\$2,934.00	\$52,812.00	\$2,700.00	\$48,600.00	\$3,000.00	\$54,000.00	
4.	EXTRA VERTICAL DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	27	\$130.00	\$3,510.00	\$120.00	\$3,240.00	\$200.00	\$5,400.00	\$190.00	\$5,130.00	
5.	VENTED SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (0'-8' DEPTH), INCLUDES INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$5,600.00	\$5,600.00	\$6,601.75	\$6,601.75	\$5,288.05	\$5,288.05	\$6,600.00	\$6,600.00	
6.	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	1502	\$52.00	\$78,104.00	\$53.94	\$81,017.88	\$65.00	\$97,630.00	\$58.00	\$87,116.00	
7.	SHORT SIDE SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	18	\$1,500.00	\$27,000.00	\$1,815.60	\$32,680.80	\$2,000.00	\$36,000.00	\$1,900.00	\$34,200.00	
8.	CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,200.00	\$2,200.00	\$1,560.00	\$1,560.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ANNISTON SECTION 19

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MARCH 20, 2025 LIA ENGINEERING, INC. E. MUPRHY MARCH 20, 2025 0390-2491 (9.2)

				1) BAY UT	ILITIES. LLC	1 '	RUCTION ENTERPRISE,	TION ENTERPRISE, 3) SUBTERRA SERVICES ENTERPRISES, LLC		4) BLAZEY CONSTRUCTION SERVICES LLC		
						II	NC.					
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
	NCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL DS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	4331	\$0.10	\$433.10	\$0.01	\$43.31	\$0.01	\$43.31	\$0.11	\$476.41	
SUBTOTAL SA	INITARY SEWER ITEMS			-	\$296,741.10	-	\$291,193.58	_	\$315,315.36	_	\$306,888.41	
	R ITEMS RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND KFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	739	\$80.00	\$59,120.00	\$94.22	\$69,628.58	\$110.00	\$81,290.00	\$96.00	\$70,944.00	
	RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND KFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	74	\$100.00	\$7,400.00	\$115.87	\$8,574.38	\$115.00	\$8,510.00	\$118.00	\$8,732.00	
	POLYPROPYLENE PIPE, AASHTO M-330, INCLUDES BEDDING AND KFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	827	\$62.00	\$51,274.00	\$69.25	\$57,269.75	\$72.00	\$59,544.00	\$68.00	\$56,236.00	
	POLYPROPYLENE PIPE, AASHTO M-330, INCLUDES BEDDING AND KFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	217	\$82.00	\$17,794.00	\$85.44	\$18,540.48	\$95.00	\$20,615.00	\$90.00	\$19,530.00	
	POLYPROPYLENE PIPE, AASHTO M-330, INCLUDES BEDDING AND KFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	347	\$92.00	\$31,924.00	\$103.48	\$35,907.56	\$114.00	\$39,558.00	\$101.00	\$35,047.00	
	POLYPROPYLENE PIPE, AASHTO M-330, INCLUDES BEDDING AND KFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	351	\$113.00	\$39,663.00	\$127.88	\$44,885.88	\$142.00	\$49,842.00	\$135.00	\$47,385.00	
	GE I - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), INCLUDES T PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN CE	EA	20	\$2,500.00	\$50,000.00	\$1,242.00	\$24,840.00	\$1,300.00	\$26,000.00	\$1,500.00	\$30,000.00	
	GE II - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), ALL DEPTHS, IPLETE IN PLACE	EA	20	\$1,000.00	\$20,000.00	\$2,372.40	\$47,448.00	\$2,600.00	\$52,000.00	\$2,700.00	\$54,000.00	
	IFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND ILLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	19	\$2,700.00	\$51,300.00	\$2,742.00	\$52,098.00	\$3,000.00	\$57,000.00	\$3,550.00	\$67,450.00	
	IFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND SER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,700.00	\$3,700.00	\$3,426.00	\$3,426.00	\$4,000.00	\$4,000.00	\$12,900.00	\$12,900.00	
STO	AK INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED RM SEWER, INCLUDES APPURTENANCES, ALL SIZES, ALL DEPTHS, IPLETE IN PLACE	EA	1	\$2,100.00	\$2,100.00	\$500.00	\$500.00	\$500.00	\$500.00	\$460.00	\$460.00	
TOP	IOVE AND DISPOSE OF EXISTING REINFORCED CONCRETE TYPE "E" INLET AND REPLACE WITH TYPE "C" STORM MANHOLE TOP, ALL DEPTHS, IPLETE IN PLACE	EA	1	\$2,700.00	\$2,700.00	\$2,076.00	\$2,076.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	
	NCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, IPLETE IN PLACE	LF	2555	\$0.10	\$255.50	\$0.01	\$25.55	\$0.01	\$25.55	\$0.11	\$281.05	
SUBTOTAL ST	ORM SEWER ITEMS			_	\$337,230.50	-	\$365,220.18	-	\$401,384.55	_	\$404,965.05	
CON CON PUN CON	DUS ITEMS /ATERING (GROUNDWATER CONTROL) TO COMPLETE THE STRUCTION OF UTILITY LINES, ALL LINE SIZES AND DEPTHS, INCLUDES VENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND IPS, OR ANY TYPE OF PUMPING NECESSARY TO COMPLETE THE STRUCTION OF THE PROJECT, (AS DIRECTED BY ENGINEER), COMPLETE LACE	LF	200	\$20.00	\$4,000.00	\$20.00	\$4,000.00	\$20.00	\$4,000.00	\$30.00	\$6,000.00	

FRN F-1386 LJA Engineering, Inc.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ANNISTON SECTION 19

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			_			A) 00117-1		a) au 1777		4) 51 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	TION (550) (15-5)
				1) BAY UT	ILITIES. LLC		RUCTION ENTERPRISE, NC.	3) SUBTERRA SERVICE	ES ENTERPRISES, LLC	4) BLAZEY CONSTRUC	CTION SERVICES LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	 WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR STORM SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
:	3. WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
	4. ADJUSTMENT TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00
!	5. CRUSHED STONE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$500.00	\$500.00
•	6. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, TO BE PLACED IN FRONT OF LOTS WITHIN ANNISTON SECTION 19, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
:	 EXTRA DUCTILE IRON FITTINGS, (AS DIRECTED BY ENGINEER), ALL DEPTHS, COMPLETE IN PLACE 	TON	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
:	B. INSTALL FILTER FABRIC FENCE (SILT BARRIER FENCING), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	250	\$2.15	\$537.50	\$1.00	\$250.00	\$1.00	\$250.00	\$2.00	\$500.00
9	9. HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	2	\$2,200.00	\$4,400.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00
10	D. SURFACE WATER CONTROL AND PUMPING, INCLUDES PUMPING TO COMPLETE PROJECT, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$1.00	\$1.00	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00
1:	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDES GENERAL SOURCE CONTROLS, STREET SWEEPING, CONCRETE WASHOUT, AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,400.00	\$1,400.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00
1	2. INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$2,800.00	\$2,800.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,300.00	\$2,300.00
1	3. BROADCAST SEEDING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	18	\$1,100.00	\$19,800.00	\$1,000.00	\$18,000.00	\$1,000.00	\$18,000.00	\$1,000.00	\$18,000.00
1	EXTRA CEMENT STABILIZED SAND BACKFILL, (2 SACKS PER CY), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$40.00	\$4,000.00
SUBTO	TAL MISCELLANEOUS ITEMS			_	\$53,092.50		\$32,406.00		\$37,405.00		\$47,450.00
BID SU	MMARY										
WATER	RITEMS				\$214,484.90		\$228,695.93		\$224,895.09		\$239,065.99
SANITA	NRY SEWER ITEMS				\$296,741.10		\$291,193.58		\$315,315.36		\$306,888.41
STORM	I SEWER ITEMS				\$337,230.50		\$365,220.18		\$401,384.55		\$404,965,00 \$-1386
					Page 4 of 8				O:\LAND\0390\	2491\032025_Annisto	LJA Engineering, Inc n Section 19 WS&D_B1

BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ANNISTON SECTION 19

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MARCH 20, 2025
LIA ENGINEERING, INC.
E. MUPRHY
MARCH 20, 2025
0390-2491 (9.2)

				1) BAY U	1) BAY UTILITIES. LLC		2) GONZALEZ CONSTRUCTION ENTERPRISE,		3) SUBTERRA SERVICES ENTERPRISES, LLC		RUCTION SERVICES LLC				
						INC.		INC.		INC.					
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL				
MISCELLA	ANEOUS ITEMS				\$53,092.50		\$32,406.00		\$37,405.00		\$47,450.00				

TOTAL AMOUNT BASE BID \$901,549.00 \$917,515.69 \$979,000.00 \$998,369.45

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				5) CROSTEX CO	INSTRUCTION INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
WATER 1.	ITEMS 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2413	\$36.00	\$86,868.00
2.	8" PVC RESTRAINED JOINT WATER LINE, C-900, DR 14, CLASS 305, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	966	\$68.00	\$65,688.00
3.	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	9	\$2,100.00	\$18,900.00
4.	FLUSHING VALVE UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$7,400.00	\$44,400.00
5.	WET CONNECTION OF PROPOSED WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$750.00	\$2,250.00
6.	12" STEEL CASING FOR 8" PVC PIPE, EXCLUDES CARRIER PIPE, INCLUDES FITTINGS, SPACERS AND PLUGS, ALL DEPTHS, COMPLETE IN PLACE	LF	250	\$90.00	\$22,500.00
7.	TRENCH SAFETY SYSTEM FOR WATER LINE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	3409	\$1.05	\$3,579.45
SUBTOT	AL WATER ITEMS				\$244,185.45
	RY SEWER ITEMS 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	703	\$40.00	\$28,120.00
2.	8" PVC SEWER PIPE, ASTM D-2241, SDR 26, $8'$ - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1879	\$43.00	\$80,797.00
3.	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	18	\$3,400.00	\$61,200.00
4.	EXTRA VERTICAL DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	27	\$320.00	\$8,640.00
5.	VENTED SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (0'-8' DEPTH), INCLUDES INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$15,000.00	\$15,000.00
6.	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	1502	\$47.00	\$70,594.00
7.	SHORT SIDE SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	18	\$1,725.00	\$31,050.00
8.	CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			5) CROSTEX CON	STRUCTION INC.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	4331	\$1.10	\$4,764.10
SUBTOTAL SANITARY SEWER ITEMS			_	\$302,665.10
STORM SEWER ITEMS 1. 24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	739	\$85.00	\$62,815.00
2. 30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	74	\$107.00	\$7,918.00
3. 24" POLYPROPYLENE PIPE, AASHTO M-330, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	827	\$74.00	\$61,198.00
4. 30" POLYPROPYLENE PIPE, AASHTO M-330, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	217	\$99.00	\$21,483.00
5. 36" POLYPROPYLENE PIPE, AASHTO M-330, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	347	\$110.00	\$38,170.00
6. 42" POLYPROPYLENE PIPE, AASHTO M-330, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	351	\$136.00	\$47,736.00
 STAGE I - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE 	EA	20	\$3,000.00	\$60,000.00
8. STAGE II - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	20	\$1,200.00	\$24,000.00
 REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE 	EA	19	\$4,000.00	\$76,000.00
10. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$8,000.00	\$8,000.00
11. BREAK INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED STORM SEWER, INCLUDES APPURTENANCES, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$600.00	\$600.00
12. REMOVE AND DISPOSE OF EXISTING REINFORCED CONCRETE TYPE "E" INLET TOP AND REPLACE WITH TYPE "C" STORM MANHOLE TOP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00
13. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2555	\$1.05	\$2,682.75
SUBTOTAL STORM SEWER ITEMS			_	\$412,602.75
MISCELLANEOUS ITEMS 1. DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION OF UTILITY LINES, ALL LINE SIZES AND DEPTHS, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

		_		
			5) CROSTEX COM	NSTRUCTION INC.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
 WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR STORM SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	LF	100	\$5.00	\$500.00
 WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	LF	100	\$5.00	\$500.00
4. ADJUSTMENT TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00
CRUSHED STONE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$5.00	\$5.00
6. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, TO BE PLACED IN FRONT OF LOTS WITHIN ANNISTON SECTION 19, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00
7. EXTRA DUCTILE IRON FITTINGS, (AS DIRECTED BY ENGINEER), ALL DEPTHS, COMPLETE IN PLACE	TON	1	\$1,500.00	\$1,500.00
8. INSTALL FILTER FABRIC FENCE (SILT BARRIER FENCING), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	250	\$2.00	\$500.00
 HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	AC	2	\$1,000.00	\$2,000.00
10. SURFACE WATER CONTROL AND PUMPING, INCLUDES PUMPING TO COMPLETE PROJECT, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00
11. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDES GENERAL SOURCE CONTROLS, STREET SWEEPING, CONCRETE WASHOUT, AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$891.70	\$891.70
12. INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00
13. BROADCAST SEEDING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	18	\$1,000.00	\$18,000.00
14. EXTRA CEMENT STABILIZED SAND BACKFILL, (2 SACKS PER CY), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$30.00	\$3,000.00
SUBTOTAL MISCELLANEOUS ITEMS			_	\$55,546.70
BID SUMMARY				
WATER ITEMS				\$244,185.45
SANITARY SEWER ITEMS				\$302,665.10
STORM SEWER ITEMS				\$412,602.75

BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ANNISTON SECTION 19

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MARCH 20, 2025 LIA ENGINEERING, INC. E. MUPRHY MARCH 20, 2025 0390-2491 (9.2)

				5) CROSTEX CO	INSTRUCTION INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
MISCELL	ANEOUS ITEMS		\$55,546.70		

TOTAL AMOUNT BASE BID \$1,015,000.00